| have had my hoe ready
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To ask for change of work, To request work
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Four seasons of Korean rural farming areas
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Lili, is your mattock ready?

2| 2 Ho|Q? @= 1410} 7= Y= oIl oM =012 WAR=HK.
A mattock? | have my hoe ready as you said we would dig up sweet potatoes today.

FolotroiL 2z g €2 HF HYGHA 202 o/ &5 K.
The soil that we're going to work on today is really hard, so hoes won't work well on it.

T2 W02 I+0HE A = 20|22 g HECH IO &% 7F LY |
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And also, make sure that you are more cautious to dig up sweet potatoes with a mattock than with a hoe
as it may damage sweet potatoes more.

2 2 O O™ 40| Jt EE KA SA 2.
Oh, I understand. | will go get a pick from the shed right away.
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trowel rake pitchfork hose watering can
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seed tray
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chemical sprayer
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motorized cultivator
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combine harvester
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-=L|2 attached to a verb, is
used to introduce or explain a
background situation in order
to proceed with a question, an
instruction, or an action.
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Thanks for your hard work, today. We will fertilize the field tomorrow, so please get everything ready.
2| 2 HzQ? 252 U3 0| ol A0 EM H|=S Q7
Fertilize? Do we spread fertilizer already when we are planning to plant seedlings next week?
Z0I 010 BES Al7| FHOj B0F S, HIEZE HA| 821 UZFUS XLt S0
210{0F 20| & X2AE=R.

We should fertilize the field before we plant seedlings. The seedlings grow well when we plant about
a week after the field is fertilized.

2| 2| Of, IR M7t S07tM LY = Hlz & EH =SH L.

Oh, I see. | will have fertilizer ready for tomorrow when we get home.
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7|Lt/7|1 =Lt/ THBHSHCE HELH/ 4250t [Ch FHCE
to raise/to grow/to cultivate to reap/to harvest to pick to dig out

H|=S f2(Ct

to fertilize

MobS Ba|C} 2

to sow seeds

=]
= At
to plant seedlings
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to water

HES FO

to apply manure (to a field)
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to remove weed
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to get rid of worms
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S2E X|Tt
to spray (apply) agricultural pesticide
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3) 7k =0 27| | & L= HAHQ?
Lt 2[ALO THA 2.

-7| 0| attached to a verb, indicates
that the action or the state of a main
clause precedes the action or the
state of the -7| H0| clause.
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Choose the words or expressions from the box that best describe the pictures.
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How can you request a certain type of work? Create conversations as follows.
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%';E ?_I‘E %_’TI_EQ_I AI‘HIIE'! Four seasons of Korean rural farming areas

% Spring
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Farmers prepare for spring planting. They fertilize and plow
fields in order to sow seeds or plant seedlings. They also plant

such crops as tomatoes, eggplants, cucumbers, squashes, and
peppers.
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Farmers harvest vegetables they planted in spring. They keep
fertilizing and spraying agricultural pesticide, and weeding the
fields. They plant carrots, onions, and scallions in the fields as
well. They also plant cabbages used for kimjang, kimchi-making
for the winter season.
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ta2 = AZYULL. HERN Z 7|2
a2t HE HsL.

Fall is the season of harvest. Farmers harvest vegetables and
rice.

71% Winter
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Farmers have their agricultural equipment repaired, if necessary,
and prepare for the new growing season the following year.

They also plant a variety of vegetables and fruits in their
greenhouses.
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